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Line, segment, and ray homework

Answer all questions with a complete sentence.

1. a. Draw two points, D and E. Then draw line DE.
b. Draw point O not on the line.

¢. Draw rays DQ and EQ.
\
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2. What are three possible names for the line shown? {— i
& <
YR
Y X

3. Can the ray shown be called XY ? Why not? ——

The name starks with ooink ot end.

4. According to the definition of a line found on GFEC text found on page 3, a line is made up of
what? .
ohnts |

a. Does this agree or disagree with Euclid? Provide examples from texts to support your
claim.




Do#10b.onp 15and # 13 & 14 on p 16 of GFEC below
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Collinear, noncollinear, between, bisector and congruence homework

1. Point M is between endpoints O and P on line segment OP. OM =x + 8; MP =2x—6; OP =44 Solve the length of
both OM and MP and determine if point M bisects line segment OP.

I y+8 | 2xb | ' O_N\’,X{—gi ILH'X:ZZ
i X+8+ 2x-lo=4Y
g A P o= NP = Qxo= Ard
b o ' 3y v2 =t =28
3y =42 £

x=I4 OM=MP "\ ges 5p
2. If AB =16, BC =8, and AC = 24, which point is between?

a. Draw three diagrams. Draw one that proves the point between and draw two showing that the other points cannot be
between.
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3. Draw a number line and shade all points that afe at or between -5 and 2. Write the length of this shaded segment.
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\e o '

% ASet b ¥
@ O is midpoint of A W s
s T LL/

Narm all Cung/wu} SegmentS R q -

P

po = O

\\?
%)
2
- 1 S
@
&

>

>

=<




@;hﬁt*ﬁ_,

S | —

H4TTS 4+ 8

L Y%k 3

8O
(x12) =0

—_—

\

B e |
Lod bopel Tl if ok Wbt L ob 1l b WHNERNEEY SN
@ ke _~ _M k- T 60 O O L i %-Ai_riﬂ__-l_ ..-Q,E}_M_H R
‘, SN GG 1 e SO B il _ ﬂr |_lal_llf_l|_ln‘|,l _
m‘,[ LA i | | % | 4__.,,.,.‘ ]
pmi.ﬁ. | Pdd 5 | ] Lk |
=] g T = _rmt,
el )=l Sl 1% "
Ul 8 b Lk
i 0 w S |3 | Jod |
e ML O liad [ SEEEE AW | |
Hn@% | , - Z e oy Mo ulu h
4o B | M |11 |
b S8 A eenanEs gaE:
PR . i i > iR
1 i % o A Y v B
AR o 5 | - ] I
I © 4 A e T e R
o S =
m
J)

LR HEE T EER |

Rl B h s i 12 02 O O T

I BRI T g WP N P
3 13 A LR T

TS
A

\

!
o

Lorl:c +‘\/‘l 4

M

N

-—
—

—ind +

XGt3 ¥ Uy 2

X +Y

i1

Z

no. MP

neri

A

bl 12 @ | +he




Oammsmmmm IREE
i omdﬁ 42%%“_”_-

oEnd A8 | | bl Fied Ael | | L*QQLCAB xj m&srx

@' - - AREE T

L IF 48- - %+3 | and /&:—&ﬁa Tﬁd AE B

Iy H l? by tAlE - SLMIJ AEEsFr S EEREEE

¢. Whar &ﬁmm" s O :I—_hf._mj,dpolﬂ a{iP m%*‘ Ba&

[Q 15 Hae mldpomt of ée,gm.w BDJ‘ e L




|
!

( \

-

MLAsures

NULASU

fdd

'8} mc

1

7

X

&

/1P

(g

Clis|3

J

(oht o

84

1<

2l
-

Sx= AP

;5x+2):CT‘O°

£ ABC

L AB

1
1




ors
o] L pls igniacl oty i 44
- Due 847—[*7

[ imER e amE R

What are 4 possiole mm_%« SouBRAET IHE

Hne ange Shown7 S - SRR | T8
- o E\cmudm W@bs huj/z?}t& a’

BLD ZDEC LE m |
S AN f mﬂ
N EEEEC” MmET &

| = > »,,1:";:@_“@1@[;5 rgnt angle ok
L L L Lt | eogn (CACTDE Q{f PRS =

@ Nome ZOPRinall OW 7 | @‘iéaggo :Wi W‘Q@ﬂ S

,Pass\b\a wiags L4 L L1 L |
| ‘L‘ g5 U.RPO Béoi i

/508 MDQJ:%

”_*;‘w L P10~ 7p°] Hﬁw IW
@ whod 15 He w&MTLTQSZA T ?*'

Tre varkex & Zms isd L

; e @ 2 z’_TOP’SQ hO\/\J \omgﬂ-
- ©  Hew manﬂ nﬂgm h@s varm R7 AR o ?**’ AR
AREs A RENANENT fp”]_; & AT

Virkey R hes Z OQSQS
e e S @Qlas&% LT0Sas
D O I s 5 75 - T \r%w;} or ob+u5&

@ N o /_TSEm ol | oﬂwr msmbu , i
woysl L EEEEEYS-AT RN

|50 Z 705! Is Ob"'U?)Q

Frso ) AP%T asp T




,i

E!

N
==

4"
L/
X

13

he roto OF
5

¥ a

DBC 1= 30 L

4
~

i } ~N
Jp Be
1 e
s ol | < — 7|
I Sal: hb
= > I feol [0 wjn]
R ~ : 7.% L o Y © |
. N9 : > _/_VA X | i
A < |9 ) ~ B
Il el
a by i
b | n
‘r‘.‘i» NN TR DS TN ! [ o e TR [ | SRS O] | T [/ R TG [T R | TS Ll




Honers Citometry Assigned 8/17 due 8718

| z_N?\o AORM_gwse me-dw |

bl (2 [ [ [T L1 [ Lo
14 l’ﬁtl~ LAGH : :tdzﬁmd—zm of angltbfaadbr
& LSl ] | Sudsbindrar | |
| 2432 |\ LFGReA)5 = 43| )
= | L JGR=1t27 = H3




- 1“ ) . ‘\JLIfﬁf%ffff
JAEEEn ; B NE . i!f;;“y4n@
m_ | | e

i | hw_ B [ o el IH‘MWDT
t

Pt

.
|
_‘
g
|
. kS : 0l
e - | Q | | | TR
| w | llm | B P il
F N A < B
| | Hm“m _ Wl B %
| | : P £ |
| W , % rR. , Q »J ¢ . ] *
| | N . + | | |
| ul 6. ,/h,.l WU b _
5, 9 3 5 &)
il & - S
b \ - 0 lnl, o it
| : Q = N
T gt \ T
”‘r ¢ i fV., \Am j A ; ke,
C P 2 Le) g i | pig p
\.O.l- h( F i J O 4
[ i 5 2 |3 g e K |
= , , o ©
1 5 _ , ) : =
v | H |o o O S T N R Yl
<] ‘ 2 N | P ; H = Xl b ) L
- M AR = I I A
N Fd kel L] w 19 ka P i = = g o
PEEEECECE SRR EE DL v ) o 0 Yl O
ERNRLRER RN EE = R o W
N I~ v i |71 Josl = : aw i_l Wi
e i o N O o R 2 ERXELEE "N B | | FRSRN
dNRENRAN NErReRREEERE FIRSEERELENRRN
~ | [ ] MENUANEIRGANET"TERINESEAFIEEENEORA RN
HIEENEEEF AN RGN EECZE AN ESERENE IR NER AN NS,
EREAET R NGRS SYNENY AR SRR




o B s TS [T TSR R DT e == =
BT el SR o |
< e - —_— e ] e e NN S—
IS ol D il
‘ 5
Pk 4 i
- % PmT |“ Q =
; G
Ly el & O
| S b
4 H - ~7]
X-Siw WE ) Sk
. O kl ﬁlﬁlﬁu ’
o = nm =2t i i <
( S s o
B i A8 e — Q -
e R Rl Ei e W
o - [0 ] s o > 3 e
oy L od i T <) S sl = - %
~ 5 wﬁbma Rk .MUW ERERRNSE
£ 5 | i a3 it o . \
) o {y - = = e =
= & ot T k" >
< al. v BER ™ D
L@ pall)) B ! , ] um?o ' V(A |
= \ D I K
| R - o 5-. I@r }mﬁ n \ V_m u
N n/w/ By % |* ik
ﬁbi =l dE. 8 | e .
B ul o o 3
| —+
40 R = . A\
.%[l ..... NIl ]mw .\ﬂ“ ﬁ P é‘ d.
> nm i aQ |\ ..v_n.
- — %.Hﬂ\.r |
;i oy S i I I Q i
§ ) Ll e L1y
FENE T
_ | [ e | [ R | % PR - | = —




L . - fF a1 R R (R “
— — S— f— N S— \|~V —_— — +
i !
0 | 8 e ) .1
= i |
(3= [ i - M
I ﬁ‘\ — SN w\. = E 7
IEEEE b .l
E = b %
~s S
| ...u%c ) 8]
W.me , g
i =
Q i
e = 2
N 5 \
] -
=F 9 T O 0
bl : .~ i - 2 1 1K)
T m 0" m.Lu % n.\\.
9D | 3 o le e ;ﬁ . .
S M &) o
a »ﬂn w AN m % ) ?5 h !. <
O elrl i b | 2 =7 - —
| logaQ ol 18al IS 18 |00 [
fm‘ 03, o+ ) = 1 79) ks i )
ai= —
< ﬁ 3y ,I. mwn:
W —J
= b A
1 ‘w‘ 0 LR
2 pors | S
O £ ot O .O: O 6 I“l
- . ¢ = =TV ‘ fe}
IT DMIH ﬁ'. o ,4 - I..%.l\ s m O
B4 | H (4 o] IR Shm“ = |w |~
-~ D—s = ! ) n K .
L [ g 9 wiHE
a9 | H =
&4 RS
I {
. -3
=
T 1




L=
-

| |~ SO =S SISO SRS . | SRSl

(&)

| |

L@OA

|
| tind

f—ﬁL = 3 [ | f : L_ |_5‘_J
R E n’b i onqle and if |
' i }h % U 1 N \4*; m
4.5 i LPOG is |2y sl locraeasx

igqe Lil%

{ A.
1 AAL X°+5°

500+ 60
/ 65"]

= LDBE

_J‘/D-‘______ |

N/ lo0® g I I
4 f_S\,’ ;,E,f,,_,, =

-~



j-_ 'C Hne %thd | | | 2,25 = 4 1 .
T were rotaked | 407 clockiis i H]I 1.5 |
| whed Au r ylsm]uLd it paint? | | .
e . TGZAsE X | ||

1 [ do7 1 1% EEE ST TN 1L
o = ’ \1356! | | 1 | 4 ! | LGBD: ale,S' ‘6025
| L ;_ r“‘*‘*r—ﬂ""f’ I 3 : l i | -
@ 19 1} lwere rotoded 150° clockwise,l | | =25 -79.75
and then 20° counter—cle 32, a4 L4 -ﬁr, :
L wined r“\um o \ %fl" (ol #?l R e
B8 | I v iF 2 ABC = LLBD
| llpd’23p9=| 12d” | L |l fren ZABC+ LCBP
il PR N E— | bl | Ol
ol T4 L1 1] N=195.75+ B.75= 1al.s]
1KY Sl 0 | I which1s_Qreater|
4| ey ]I I - | i ‘[ } J\thLLJLEQQf,,_, A
I e | Eal. oo ILABD | |
B O T B i
L T T
T TT TP e P [ e L
| | | Hes
| — R e I :




]

|
I
p

=T

R;

\C ATKX\& CL°

sT
vy

CT@P ot eh]a 3h:r a rELQ_

64300

9~QD

?x+5H~l%O -]

|

v 5x+&y QO eSoHva Pm’x A N _!‘*M— EENN
2xzqo-3y | [ RaE ANBE - LEENEE
= ?JQ-—L}%Z Su&h*ﬁke, | Y: :Zz;( ) - 4O BE

’z&@§p+§9ggé*,%m

bl
(

] l \ ‘ i
| -t ¥ | | |
1 1 - i
| ; { | | |
| | |
1 - + — — - —



ke s deoe | Sl ; B P b 4 -
z@{ ’\l ,—,r; .O‘Zf" SC u ‘{_Q ~p :
77° | 2P.5" 3 e
P % £
| 1 .0 ] =3
nel 275 T T 5
) e o
£ e 5 : 5|
_1_;'# T |
& 1
= .
I
| - -




